02 Suction Cup

Cup with Thin Lip

J PN
§' Series
o
©
; RoHS#
;
02
PA
PB
PC
PcD The cup with thin lip
PD For workpieces with smooth and pliable surfaces like paper or vinyl sheets!
PF
Pro LY R R S e el PNG-132(415), 133(¢25), 134(¢35)
PH
PJ
CORE \ﬁ
PK2 == [ _
PK2B :
PK2L / .
PL With special lip structure. = ET SR WOI:E;{:BCGS
m More suitable for handling vinyl, film, etc. !
PN-B
PP
PQ ( Wide range of cup sizes. )
PR
R 2 o117 6] 20 3 2 s 25 o7 Lo [ Lo osa [0
PW
RA
SM ( Various fittings for many kinds of applications. )
h

395 | comwum



PN

Cup with Thin Lip

%]
Suction Cup 5
=
=
(@]
c
Cup size (mm) °
up
PNG $15 ~ 49 P.397 9
ke}
g
—+
=y
._|
3.
. . 3
Fitting c
Type Appllca(l;)rlﬁnt;up size S(':Tr]?rl]()e Va::rl;m Piping * Connector Page
¢ 15~35 Barb
Cup with fixed fitting
N/A Top P.403
PNTK 02
@ 40, 49 Female screw Suction Cup
PA
¢ 15~35 Barb PB
Cup with fixed fitting . PC
PNYK N/A Side P.403
@ 40, 49 Female screw PCD
PD
¢ 15~25 3,10,15 PF
Cup with Female screw PFO
spring fitting ¢ 23~ 35 6, 15, 30 Top Push-in P411
NAPNTS Barb PH
¢ 40, 49 10, 30, 50 o
CORE
¢ 15~25 3,10,15 -
PK2
Cup with Female screw
spring fitting ¢ 23~35 6,15, 30 Side Push-in P411 PK2B
NAPNYS Barb PKaL
¢ 40, 49 10, 30, 50
¢ 15~25 3,10,15
Cup with non-rotation Female screw
spring fitting Top Push-in P.419
NAPNTH Barb PP
¢ 23~35 6, 15, 30 PQ
PR
¢ 15~25 3,10,15 PU
Cup with non-rotation Female screw -
spring fitting Side Push-in P.419 PW
NAPNYH Barb RA
¢ 23~35 6, 15, 30
SM
TN
Setting screw ¢ 15~49 - - - P.503

Suction Cup Selection Guide "é P.163

396



LY cup with Thin Lip

How to Order

dn) uonong

PNG 101

@

(@]
C
©
3
=
>
—
=
S
C
©

@ Cup Size (mm) @ Cup Rubber Material

397

*Please consult with us for other material.

Symbol | Cup size  Symbol | Cup size Symbol Material Applicable cup size
101 il 116 v18 N NBR(Nitrile rubber) 101/116/122/130A/1308/
102 ¢25 117 ¢17.6 131/132/133/134 Notel
103 625 121 ¢31 sili bb 101/114/116/117/121/
104 | ¢2438 122 ®34 S o ca Br' | 130A/130B/131/132/133/
PB 106 | 625 123 | 415 134
PC 107 49 125 d24 Silicone rubber | 107/123/131/132/133/
" SI30 hardness 30 | 134
PCD 108 %40 130A 620
PD 109 o117 130B ¢ 20 U Urethane rubber 104/110/116/125/130B
o . ¢23 R ©25 F Fluorine rubber | 1308
111 ¢ 25 132 ¢ 15
PFO 101/102/103/104/106/
112 b27 133 625 NR Natural rubber | 107/108/109/110/111/
PH 114 ¢17 134 ¢35 112/114/123
PJ Note1) The hardness of 131/132/133/134 is 40, and another type is 55.
S, ¥ Please consult with us for other material.
CORE
PK2 Cup Rubber Material Standard Specifications
PK2B . . o
Symbol Material Hardness (A/s) Ambient temperature (°C) Color
PK2L N NBR(Nitrile rubber) 55/40 Not! -26 ~ 120 Black
PL S Silicone rubber 55 -60 ~ 250 Translucent white
m SI30 Silicone rubber 30 -60 ~ 250 Translucent white
PN-B U Urethane rubber 55 -20~75 Blue
— F Fluorine rubber 70 -10 ~ 230 Black with white dot
i NR Natural rubber 40 -60 ~ 80 Light brown
PQ Note1) The hardness of 131/132/133/134 is 40.
PR
PU Applicable Rubber Material Table
PW
RA Material Color Symbol Round type
101(102(103|104(106 | 107 [108 (109 |110{111| 112|114 (116|117 |121|122| 123 | 125 [130A1308| 131|132 | 133 | 134
SM NBR (Nitrile rubber Black N ° P ° o e
hardneSS 55) ac X X X X X X X X X X X X X X X X X X X
TN NBEaﬁgggéesr:(%ber Black N X | x|x|x|x|x|x|x|x|x|x|x|x|x|x|x|x|x|x|x@® @ @ @
Silicone rubber Translucent
(hardness 55) white S |@|x|x|x|x|x|x|x|x|x| x @0 ®® x| x x 00 e e e e
S(;,:Igfdn:e;gb;oe)r Tracvsr:ﬁgent SI30 | x| x|x|x|x |@|x|x|x|x|x|x|x|x|x|x @ x|x|x @ @ @ @
Urethane rubber Blue U x| x| x| @|x|x|x|x | @ x|x|x | @|x|x|x|x|@|x | @|x|x]|x]|x
Fluorine rubber %\llakﬁtkevc\{ig? F X | x| x| x| x|x|x|x|x|x|x|x|x|x|x|x|x|x|x|@|x|x]|x]|x
Natural rubber |Lightbrown| NR @ @ @ @ @ ©® @ @ ©® @® ©® @® x x x|x @|x|x|x|x|x|x]|x
@®:Instock OMade to order  x:None



PN

Dimensions

PNG /Cup with Thin Lip

(mm)
PNG-101 PNG-102
@15
@15
@10
. @10
6.5
X "7 6.5
(aV]
% = =S
o
@ § )_)7 chl
n ! ‘
VL | ¢L | v
@31 ‘ @25
@35 @27
I 1 I 1
PNG-103 PNG-104
212 2118
7.8 258
e |
X \ e ‘
| S o
ﬂ ol "3* Ll
‘ 225 0248
@30 0284
PNG-106 PNG-107 224
17
@12 @6
5.7 |
‘ ‘
\ Q |
I ’La I
wn — (o)}
. | e i
025 4 |
=
227 OI _— |
- @14
i @49
I 1
; o51
Weight
(9)
Model \ Applicable setting screw .
Material N S |SI30| U F NR (Earey SpeeifErems) Symbol Material
PNG-101 23 | 23 - - - 2.3 | TN-PN-101-M6 (Male M6X1.0) N NBR(Nitrile rubber)
PNG-102 - - - - - 1.1 | TN-PN-102-M6 (Male M6X1.0) S Silicone rubber
PNG-103 - - - - - 2.7 | TN-PN-103-M6 (Male M6X1.0) SI30 Silicone rubber
PNG-104 - - - 2.6 - 2.4 | TN-PN-104-M6 (Male M6X1.0) U Urethane rubber
PNG-106 - - - - - 2.4 | TN-PN-104-M6 (Male M6X1.0) F Fluorine rubber
PNG-107 - - 15.5 - - 15.5 | TN-PN-107-M10 (Male M10X1.25) NR Natural rubber

*Please refer to P.503 for setting screw detailed specifications.

dn) uonong

di7 uiyL yum dny

1)

Suction Cup

PA
PB
PC

PCD

PD
PF
PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PP

PQ

PR
PU
PW
RA
SM
TN



LY cup with Thin Lip

wn
c
3]
[=]
o . .
5 Dimensions
(@]
% (mm)
o PNG-108 oo PNG-109
5
s 216
=3
> @6
- ~—
= \ 2148
= » ‘ "
[ ‘ 210
-U I
N | ‘ | | @32
mE 2 | -
— L i S
| | "
o i ~
" Ln.i o ) i | :
© | . 2 |
02 @215 217
Suction Cup @40 @20
PA 043
i PNG-110 212 PNG-111
PC o 212
- @6
PCD i "7
PD ‘ \
PF | = | 2
R | . i
PFO ‘
ET _ex 3| e
PH @26
PJ
CORE W W
PK2 ‘
PK2B
— PNG-112 PNG-114
PK2L 2118 o7
PL | 268 rﬁ
i 2&
PN-B L Al o \ s
PP ~ ] |
ra f 227 ‘ (@12)
— @273 @17
PR . — I T
P Bl
PW .
Weight
RA
SM @
Model \ Applicable setting screw q
N Material N | S|SB0 U] FINR (Screw specifications) S Material
PNG-108 - - - - - 14.0 | TN-PN-108-M10 (Female M10X1.25) N NBR(Nitrile rubber)
PNG-109 - - - - - 14 | TN-PN-109-M5 (Male M5X0.8) S Silicone rubber
PNG-110 - - - 2.1 - 2.0 SI30 Silicone rubber
TN-PN-104-M6 (Male M6X1.0)
PNG-111 - - - - - 1.8 U Urethane rubber
PNG-112 - - - - - 2.2 | TN-PN-112-M6 (Male M6X1.0) F Fluorine rubber
PNG-114 - 0.7 - - - 0.7 | TN-PN-114-M5 (Male M5X0.8) NR Natural rubber

*Please refer to P.503 for setting screw detailed specifications.

399



PN

PNG /Cup with Thin Lip

wn
c
I3}
[=A
. . o)
Dimensions 3
O
(mm) S
PNG-116 PNG-117 o
5
z
5
2115
21 5-'
4.7 >
5
le——— r
\ [
i I
L L ¢
S 218 ™ 217.6
gl e | al |
218
o8 e
U S 02
Suction Cup
PA
PNG-121 PNG-122 PB
PC
214 PCD
@15 2105 PD
@5
@7
- ri PF
‘ i |
! ~T PFO
o~ —
| — — PH
< | \07 ; —
o1 @34 PJ
31 @35 CORE
I 1 I 1 ——
@32 PK2
PK2B
PK2L
PP
PQ
PR
PU
. PW
Weight
RA
(9)
Model \ : Applicabl tti M
ode pplicable setting screw .
Material N S |SI30| U F NR (Screw specifications) Symbol Material ™
PNG-116 08 | 0.8 - 0.8 - - N NBR(Nitrile rubber)
TN-PN-116-M5 (Male M5X0.8) —
PNG-117 - 0.9 - - - - S] Silicone rubber
PNG-121 - 2.9 - - - - TN-PF-20-M5 (Male M5X0.8) SI30 Silicone rubber
PNG-122 1.4 - - - - - TN-PN-122-M6 (Male M6X1.0) U Urethane rubber
*Please refer to P.503 for setting screw detailed specifications. F Fluorine rubber
NR Natural rubber

400



LY cup with Thin Lip

wn
c
o
[=]
o - -
5 Dimensions
O
'CC) (mm)
o PNG-123 PNG-125
5
g,
~+
>
_|
2.
=] 8.8
C 212
T
4.4 25
‘ 3.8
L L °
ot
S 29.7 e 224
215 @25
@155 ) ) )
WM
PB
PC
PCD
— PNG-130A PNG-130B
PD
PF 220 ©20
PFO @12 212
PH ‘ o7 o7
PJ | |
CORE > | 2 | <
— - | 1 - ! "
PK2 N | N
PK28B . gX/;!: <&
PK2L " 220 o7
— o
PL @21 220
PN-B
PP
PQ
PR
PU
PW .
Weight
RA
(9)
M Model \ : Applicabl tti
ode pplicable setting screw -
N Material N | S|SB0 U] FINR (Screw specifications) S Material
PNG-123 - - 0.4 - - 0.4 | TN-PN-123-M5 (Male M5X0.8) N NBR(Nitrile rubber)
PNG-125 - - - 1.6 - - | TN-PN-116-M5 (Male M5X0.8) S Silicone rubber
PNG-130A 23 | 23 - - - - SI30 Silicone rubber
TN-PN-130-M5 (Male M5X0.8)
PNG-130B 22 | 22 - 24 | 3.6 - U Urethane rubber
*Please refer to P.503 for setting screw detailed specifications. F Fluorine rubber
NR Natural rubber

401



PN

PNG /Cup with Thin Lip

wn
c
I3}
[=A
. . o)
Dimensions 3
O
(mm) S
PNG-131 PNG-132 o
(@10) c
©
219 285 z
>
14 26 3
>
@7 @4 5
C
L | ©
| ~ |
72} I
ﬁ ‘ ﬁ 1 - | © n
| — ~ | N
~ = i N ‘
@3 @2
@25 @15 02
‘ ‘ Suction Cup
PA
PB
PC
PCD
PD
PF
PNG-133 PNG-134 -
PFO
PH
PJ
CORE
PK2
Lﬁ. —
=z PK2B
PK2L
PP
PQ
PR
PU
. PW
Weight
RA
(9)
Model \ : Applicabl tti M
ode pplicable setting screw -
Material N S |SI30| U F NR (Screw specifications) Symbol Material ™
PNG-131 24 | 24 | 2.2 - - - TN-PN-130-M5 (Male M5X0.8) N NBR(Nitrile rubber)
TN-PS-10-M5 (Male M5X0.8) S Silicone rubber
At 0510504 - B ) TN-PS-10-M5F (Female M5X0.8) SI30 Silicone rubber
PNG-133 24 | 24 | 22 - - - U Urethane rubber
TN-PN-130-M5 (Male M5X0.8) -
PNG-134 33|33 ] 30 - - - F Fluorine rubber
%Please refer to P.503 for setting screw detailed specifications. NR Natural rubber

402



H\11L.€2 1.4 Cup with Fixed Fitting

%)
c
S
=
=)
(@]
<
ol
(@]
<
el
2
(=
>
._|
=y
2
[ .. . . .
T Consisting of fitting, setting screw, suction cup.
( @15 (PNG-132) w ( ®15~49 (except for PNG-132) w
& 2+
* *
" * *
PC J:l J:l
PCD
PD
PF \_ O\ /
PFO
PH How to Order
PJ
CORE
R PN T K — 101 — N
PK2B CD ® @
PK2L
PL
m @ Vacuum Port ® Cup Rubber Material
PN-B T Top Symbol Material Applicable cup size
Y Side
PP o 101/116/122/130A/130B/
— N NBR (Nitrile rubber) 131/132/133/134 1
PQ
— @®Cup Size(mm)— . 101/114/116/117/121/
PR : : s Silicone rueber11304/1308/131/132/133/
—PU Symbol | Cup size Symbol | Cup size 134
S 101 31 116 18
PW ¢ ¢ SI30 Silicone rubber 107/123/131/132/133/
102 ¢25 117 ¢17.6 hardness 30 134
RA
- 103 $25 121 $31 U Urethane rubber [104/110/116/125/130B
SM 104 $24.8 122 ¢34
106 $25 123 $15 F Fluorine rubber 130B
TN
107 ¢49 125 924 101/102/103/104/106/
NR Natural rubber 107/108/109/110/111/
108 40 130A 20 112/114/123
109 17 130B 20 , -
Note1) The hardness of 131/132/133/134 is 40, and another type is 55.
110 ¢23 131 ¢25 ¥ Please consult with us for other material.
111 ¢ 25 132 ¢15
112 27 133 ¢25
114 17 134 ¢35

403



PN

PNTK-YK /Cup with Fixed Fitting

w
C
2
Combination Table S
%
©
Top Port o
j=
Model number Cup Setting screw Fitting Piping specifications ©
PNTK-101- O PNG-101-[J TN-PN-101-M6 %
PNTK-102- [ PNG-102- [ TN-PN-102-M6 3
PNTK-103- PNG-103- [0 TN-PN-103-M6 PFTK-25-K Barb $6X4 =
PNTK-104- O PNG-104- [ C
| - - ©
PNTK-106- O PNG-106- [J TN-PN-104-M6
PNTK-107- O PNG-107- [ TN-PN-107-M10
PNTK-108- (I PNG-108- [ TN-PN-108-M10 PFTK-60K Re1/8 (Female)
PNTK-109- O PNG-109- [J TN-PN-109-M5 PFTK-15-K
PNTK-110- O PNG-110-[J
PNTK-111-0J PNG-111-0J TN-PN-104-M6 PFTK-25-K
PNTK-112- PNG-112-0 TN-PN-112-M6 02
PNTK-114- O PNG-114- [ TN-PN-114-M5 SuctonCup
PNTK-116- O PNG-116- 0
ONTK 11720 NG T7 D TN-PN-116-M5 PFTK-15-K PA
PNTK-121- [ PNG-121-00J TN-PF-20-M5 PB
PNTK-122- [ PNG-122- 0 TN-PN-122-M6 PFTK-25-K Barb S6X4 oc
PNTK-123- [ PNG-123- 0 TN-PN-123-M5 o=
PNTK-125- [J PNG-125- [ TN-PN-116-M5 PCD
PNTK-130A- [ PNG-130A- OJ PFTK-15-K PD
PNTK-130B- [ PNG-130B- O TN-PN-130-M5
PNTK-131-[J PNG-131-0J PF
129, 125, Attach the cup directly EAL PFO
PNTK-132- [ PNG-132- [ to the fitting PFTK-5A-K
PH
PNTK-133- [ PNG-133-J
TN-PN-130-M PFTK-15-K
PNTK-134- ] PNG-134- [ 30-M5 5 PJ
*[Jin the table indicates the cup material. CORE
Side Port PK2
Model number Cup Setting screw Fitting Piping specifications PK2B
PNYK-101- 0 PNG-101-[J TN-PN-101-M6 —_—
PNYK-102- [ PNG-102- [ TN-PN-102-M6 PraL
PNYK-103-OJ PNG-103- OJ TN-PN-103-M6 PFYK-25-K Barb H6X4
PNYK-104- O] PNG-104- [
PNYK-106- [ PNG-106- [J TN-PN-104-M6
PNYK-107- O PNG-107-0J TN-PN-107-M10
PNYK-108- [J PNG-108- [ TN-PN-108-M10 PRYK-60-K Rel/8 (Female) PP
PNYK-109- O PNG-109- OJ TN-PN-109-M5 PFYK-15-K T
PNYK-110- PNG-110- [0 o=
PNYK-111-0 PNG-111-00J TN-PN-104-M6 PFYK-25-K PR
PNYK-112- 0 PNG-112-00 TN-PN-112-M6 oU
PNYK-114- 0 PNG-114- [ TN-PN-114-M5 S
PNYK-116- (I PNG-116- [ PW
TN-PN-116-M PFYK-15-K m—
PNYK-117-0 PNG-117- 0 5 RA
PNYK-121- O PNG-121-00J TN-PF-20-M5 >
PNYK-122- O PNG-122- [ TN-PN-122-M6 PFYK-25-K Barb 66X4 o
PNYK-123- PNG-123- [ TN-PN-123-M5 N
PNYK-125- ] PNG-125- ] TN-PN-116-M5
PNYK-130A- O PNG-130A- [ PFYK-15-K
PNYK-130B- [ PNG-130B- [ TN-PN-130-M5
PNYK-131- 0 PNG-131-[J
_ _ _ ~ Attach the cup directly EAL
PNYK-132- PNG-132- [ to the fitting PFYK-5A-K
PNYK-133-0O PNG-133-0
PNYK-134- 01 oNG134- D TN-PN-130-M5 PFYK-15-K

%[ in the table indicates the cup material.

404



W 1LSA1. 4 Cup with Fixed Fitting

wn
C
(9]
[=7
o . .
3 Dimensions
Q (
g} mm)
o Top Port PNTK-101/102/122 Top Port PNTK-103/104/106/110/111/112
5
=3 @5 5
= ~—
@3
— @3 I el
2 M5X0.8 r* 14H M5X0.8 ‘ 14H
>S5
=
5 M10X1.5 - M10X1.5 -

17
20
T

e =
ol e M6X]1 @
14H
17H - }
@}
17H
PB
QA
PC
PCD
PD Model number A B C N Y W((a;g)ht Model number A B (o3 Y w‘(egight
PNTK-101- 1 35 |655| 63 | 15 | 45 68 PNTK-103-[J 30 |66.2| 20 a7
PF PNTK-102-0] | 27 |632| 5 | 14 | 4 | 67 PNTK-104- 0] | 284 15
PFO PNTK-122- [ 35 |652| 75 |135| 6 68 PNTK-106- [J 27 |652| 19
[ in the table indicates the cup material. PNTK-110- 0 23 2.1 39
PH % The weight value of 101/122 is when NBR (Nitrile rubber) selected. PNTK-111-0 26 |642| 18 | 04
¥ The weight value of 102 is when NR (Natural rubber) selected. PNTK-112-0J 27 165.7]195| 2
P) [ in the table indicates the cup material.
CORE % The weight value is when NR (Natural rubber) selected.
PK2 Top Port PNTK-107/108 Top Port PNTK-109
PK2B
PK2L
Rc1/8 @5
PL
PN-B ofiE _
- 4 0 =
PP °
_ ' 5
PQ
—_— M10X1.25 N
PR - s T
[aa] wn
PU s
—_— \n
~
RA I ~
— > il
M @25
TN QA @20
Model number A B C Y W?;%ht Model number W?;g)ht
PNTK-107-[J 49 | 94 | 50 9 168 PNTK-109- [J 17
PNTK-108- [J 40 | 89 | 45 | 65 166 %[ in the table indicates the cup material.

0 in the table indicates the cup material. % The weight value is when NR (Natural rubber) selected.

% The weight value is when NR (Natural rubber) selected.

405



PN

PNTK-YK /Cup with Fixed Fitting

w
C
(9]
(=3
. . o
Dimensions 5
(mm) 5
mm 5
Top Port PNTK-114 Top Port PNTK-116/117/125 o
c
©
@5 s
— =
23 o5 >
10H >
M5X0.8 r 23 2
10H -
— ©
M8X1.25 —

M8X1.25

232

50.2

23.2
B

02

PA

> —
@15 t @25 PB

14

017 QA PC
PCD
Weight Weight -
Model number @ Model number A B © Y (9) PD
PNTK-114-0 17 PNTK-116- ] 18 452 | 9 |0.66 PE
*[ in the table indicates the cup material. PNTK-117-0J 46.2| 10 2.3 18
% The weight value is when NR (Natural rubber) selected. PNTK-125- [] 25 452 9 0.3 PEO
[ in the table indicates the cup material.
3 The weight value of 116/117 is when S (Silicone rubber) selected. PH
% The weight value of 125 is when U (Urethane rubber) selected.
PJ
CORE
Top Port PNTK-121 Top Port PNTK-123 PK2
PK2B
@5 -
@5 47%@3 PK2L
3 10H
~ 10H M5X0.8
M5X0.8 ‘ rﬁ
M8X1.25 = M8X1.25
; PP
< ! Al PQ
| Nlg PR
M5X0.8 | ¥
- ‘IOH PU
3H Y PW
i_ o~ RA
¥ ; SM
@25
@31 ™
I 1
Model number W?;%ht Model number W?;%ht
PNTK-121-0 18 PNTK-123- [0 22
%[ in the table indicates the cup material. *[] in the table indicates the cup material.
% The weight value is when S (Silicone rubber) selected. % The weight value is when NR (Natural rubber) selected.

406



M\ 1LSA'1. 4 Cup with Fixed Fitting

wn
c
o
[=]
o . .
5 Dimensions
(@]
'CC) (mm)
o Top Port PNTK-130A/130B Top Port PNTK-131
c
©
b3 @
= 5 5
@3
3 —— 10H 23
5 | ©5
2 M5X0.8 t V508 ﬁ 10H
[
T M8X1.25 - —
M8X1.25 —
[¥a) X
<l <« -
Q 1 Y
L o
3 M5X0.8 o 5
wn
3:‘ .
3
wn
~ "
N~
PB i ~
PC @25
020
PCD
PD
PF Model number Y W?ig%ht Model number W?igg;ht
PFO PNTK-130A-[1 | 0.5 22 PNTK-131-[] 22
PNTK-130B- [J 1 21 %[ in the table indicates the cup material.
PH 0 in the table indicates the cup material. % The weight value is when NBR (Nitrile rubber) selected.
3 The weight value is when NBR (Nitrile rubber) selected.
PJ
CORE
PK2
_ Top Port PNTK-132 Top Port PNTK-133/134
PK2B
PK2L @ 25

@25

PL h 12H @23
10H
! M5X0.8 ﬁ

PN-B o M8X1.25 —
PP
0
< ! '
PR R @
PU s
o
PW ‘\‘
n |9
RA o
>
SM :bj @25
TN oA
Model number W‘Z‘Bht Mesamss | Al B e | v W?;g;ht
PNTK-132- [J 12.3 PNTK-133-[1 | 25 |53.7|175| 2 22
[ in the table indicates the cup material. PNTK-134- 35 |557]195]| 3 22.9
% The weight value is when NBR (Nitrile rubber) selected. 50 in the table indicates the cup material.

% The weight value is when NBR (Nitrile rubber) selected.

407



Dimensions

PNTK-YK /Cup with Fixed Fitting

Side Port PNYK-101/102/122

M6X1 depth 8

(mm)

Side Port PNYK-103/104/106/110/111/112

M6X1 depth 8

@12 212
17
14H 14H
L/
n| n|l o
Q| Q| N
| ~
Yan o
T 3:1 ™
| @ -
M5X0.8 ’_ F | 17H ;\N‘
M6X1 | =z
l ‘ 17H
> Jf i O -
o3 12H
QA
I 1
Model number A B C N Y W?;%ht Model number A B Cc Y W((e;%ht
PNYK-101-0 35 |545| 6.3 15 | 45 72 PNYK-103- [ 30 |55.2| 20 51
PNYK-102- [ 27 |522| 5 14 4 71 PNYK-104- 1 | 28.4 1.5
PNYK-122- [ 35 |542| 75 |135] 6 72 PNYK-106- [ 27 |54.2| 19
[ in the table indicates the cup material. PNYK-110-0 23 2.1 43
% The weight value of 101/122 is when NBR (Nitrile rubber) selected. PNYK-111-0] 26 |53.2] 18 04
# The weight value of 102 is when NR (Natural rubber) selected. PNYK-112- 00 27 1547195 2

Side Port PNYK-107/108

M8X1.25 depth 11

@17
Rc1/8 21H
[ce]
ol ~
L _J .
& i I~ <
i @
M10X1.25 Satd
‘ v
1_
[
@2.5
OA
! 1
Model number A B c W?;g)ht
PNYK-107-00 | 49 | 94 | 50 | 9 164
PNYK-108-C] | 40 | 89 | 45 | 65 | 162

*[J in the table indicates the cup material.
% The weight value is when NR (Natural rubber) selected.

%[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) selected.

Side Port PNYK-109

@10

M5X0.8 16 |

M4X0.7 depth 6

10H

@5

@20

Weight
(9)
PNYK-109- [J 20

Model number

427

%[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) selected.

408

dn) uonong

di7 uiyL yum dno

1)

Suction Cup
PA
PB
PC

PCD

PD
PF
PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PP

PQ

PR
PU
PW
RA
SM
TN



M\ 1LSA'1. 4 Cup with Fixed Fitting

[%2)
c
(2}
=4
o - -
3 Dimensions
Q (mm)
5 mm
o) Side Port PNYK-114 Side Port PNYK-116/117/125
C
©
£
(=
> @10 M4X0.7 depth 6
. - 210
16
C. M5X0.8 | 10H
ko] : |
- \/
sl e = ‘
+— SIRSE
N
~ o
o JA AN ~
o
, | -
M5X0.8 ‘\N‘ =
M5X08 | 3
L )
>_ T
10H ©25 12H
PB oA
PC
PCD
PD Model number W?g‘;ht Modelnumber | A | B | ¢ | ¥ Wt(ag%ht
PF PNYK-114-[] 20 PNYK-116- 1] 18 34.2 9 0.66
[ in the table indicates the cup material. PNYK-117-0 352| 10 | 23 21
PFO % The weight value is when NR (Natural rubber) selected. PNYK-125-[] 25 | 34.2 9 0.3
PH %[ in the table indicates the cup material.
% The weight value of 116/117 is when S (Silicone rubber) selected.
PJ % The weight value of 125 is when U (Urethane rubber) selected.
CORE
PK2
— Side Port PNYK-121 Side Port PNYK-123
PK2B
PK2L
@10
oL @10 M4X0.7 depth 6 6 M4X0.7 depth 6
16 M5X0.8 | 10H
M5X0.8 | 10H ‘
o % .
PN-B | "] ™
T ol ] I 8 8| =
P ° ° 3 N p—L 2
e | % "
PR M5X0.8 - & .
! [59)
PU l /I/QE ~ M5X0.8
PW ~ }
@25 ™~ @2
RA =
3H 231 215 [ \10H
SM ‘
TN
Weight Weight
Model number (g% Model number ©
PNYK-121- [ 21 PNYK-123-[] 25
*[] in the table indicates the cup material. [ in the table indicates the cup material.
% The weight value is when S (Silicone rubber) selected. % The weight value is when NR (Natural rubber) selected.

409



Dimensions

PNTK-YK /Cup with Fixed Fitting

Side Port PNYK-130A/130B

@10 M4x0.7 depth 6
M5X0.8 16 |
| 10H
e
R R
N
B Al E— <
|
™~
M5X0.8 | = =
| "
. R
]
| —

>_r @2.5

@20

12H

Weight
(9)
PNYK-130A-[] | 05 | 25
PNYK-130B-0 | 1 24

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Model number Y

Side Port PNYK-132

M4X0.7 depth 6
16
M5X0.8 10H
8| 8| @

N
o~
I A S — ‘ N

o

o
1
[e)}

Weight
Model number (g%

PNYK-132-[] 17.3

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Side Port PNYK-131

@10 M4X0.7 depth 6
16
M5X0.8 L/ 10H
[sal
SIRSIR “i
N
i Bl — Q
/ .
o
<
T
M5X0.8 ‘
i i
~
o~
|
@2.5 12H
@25
Model number W?g‘;ht
PNYK-131-[J 25
[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.
Side Port PNYK-133/134
210 M4X0.7 depth 6
16
M5X0.8 i 10H
\/
SR
N
B S e— Y
Y ©
N
M5X0.8 ‘
‘ (U]
I~
I
©25 12H

Model number

Al B | c| vy [ Weight

(9)
PNYK-133-00 | 25 [42.7|175| 2 22
PNYK-134-00 | 35 [44.7|195| 3 229

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

dn) uonong

di7 uiyL yum dno

1)

Suction Cup

PA
PB
PC
D
—
PF
PO
—
P)
CORE
PK2
PK2B

PK2L

PP
PQ
PR
PU
PW
RA
SM
™

410



NV IR ) Cup with Spring Fitting

wn

c

o

5 4 @15 (PNG-132) ) /qb'l 5~49 (except for PNG-1 32)\
3>

(@]

c

©

(@]

c

©

g,

(=

>

3

2 * *

[

T

2+ * ROx > 3
Consisting of fitting, setting screw, suction cup.
Attach the cup directly Attach the cup to the fitting
to the fitting with setting screw
o 2N )

How to Order

PB NAPN T S — 114-3 — N — T
PC Q) @ ©) @
=
PCD ® Vacuum Port
PD T Top
PF Y Side
PFO @ Cup Size - Stroke (mm) @ Connector
PH Cup size Cup size Cup size
Symlzist Steoke Syimzst Steoke Szl StFr)oke S N/A
PJ 1016 | 316 110-6 | ¢236 123-3 | ¢153 T Barb
— 101-15| ¢31-15 110-15| $#23-15 123-10 | ¢15-10 o Pushn
CORE 101-30| ¢31-30 110-30| $23-30 | 123-15 | ¢15-15
- 102-6 $25-6 111-6 $25-6 125-3 $24-3 %107/108 can not be selected "T" and "O".
PR 102-15| ¢25-15 111-15| ¢25-15 125-10 | $24-10
PK2B 102-30 | ¢25-30 111-30| ¢25-30 125-15 | ¢24-15
—— 1036 | ¢256 1126 | $27-6 130A-3 | $20-3
PK2L 103-15| ¢25-15 112-15| ¢27-15 130A-10| ¢20-10 (3 Cup Rubber Material
— 103-30| ¢25-30 112-30| $27-30 130A-15| $20-15
PL 104-6 | $24.8-6 114-3 $17-3 130B-3 $20-3 Symbol Material Applicable cup size
104-15 | $24.8-15 114-10| ¢17-10 130B-10| $#20-10 i 101/116/122/130A/1308/
m 104-30 | $24.830 114-15| ¢17-15  130B-15| ¢20-15 N | NBR(Nitrile rubber) | 131%135/133/134 =1
PN-B 106-6 | ¢25-6 116-3 | ¢18-3 131-3 $25-3 sil bb 101/114/116/117/121/
— 106-15| ¢25-15 116-10| ¢18-10  131-10 | ¢25-10 S 'h'acrod”fe;‘; 55er 130A/130B/131/132/133/
PP 106-30 | ¢$25-30 116-15| ¢18-15 131-15 | $25-15 134
PQ 107-10| ¢49-10 117-3 | ¢17.6-3  132-3 | ¢15-3 si30 | Silicone rubber | 107/123/131/132/133/
= 107-30 | ¢49-30 117-10| ¢17.6-10 132-10 | ¢#15-10 hardness 30 134
PR 107-50 | ¢49-50 117-15|¢17.6-15 132-15 | ¢15-15 0 Urethane rubber | 104/110/116/125/1308
108-10| ¢40-10 121-6 | $31-6 133-3 | ¢25-3
PU 108-30| #40-30 121-15| ¢#31-15  133-10 | ¢25-10 F Fluorine rubber | 130B
oW 108-50 | ¢40-50 121-30| $31-30  133-15 | $25-15 101/102/108)104/108)
109:3° ¢17-3 [HI2261 ¢346 L8481 ¢35-3 NR Natural rubber | 107/108/109/110/111/
RA 109-10| ¢17-10 122-15| $34-15 134-10 $35-10 112/114/123
109-15| ¢17-15 122-30| ¢34-30 134-15 $35-15 Note1) The hardness of 131/132/133/134 is 40, and another type is 55.
SM ¥ Please consult with us for other material.
N . e
Spring Specifications
109/114/116/117/123/
Clp size Unit | 125/130A/130B/131/ }%ﬂ ?m?gﬂ g#}gg/ 107/108
132/133/134
Stroke mm 3 | 10 15 6 | 15 30 10 30 50
Spring load at O stroke N 0.61 0.64 245 295 | 882 | 676 | 833
Spring load at full stroke N 0.77 \ 1.17 3.43 \ 493 | 588 11.8 15.6 19.6

411



PN

NAPNTS - YS /Cup with Spring Fitting

w
C
2
Combination Table S
%
©
Piping specifications (@)
Model number Cup Setting screw Fitting Without Barb Push-in %
connector - Blank | connector-T | connector -0 g
NAPNOS-101-6-00_(-T/0) NAPFOS-20B-6-K (-T/0) 5
NAPNOS-101-15-00 (-T/0) | PNG-101-00 | TN-PN-101-M6 | NAPFOS-20B-15-K (-T/O) 5
NAPNOS-101-30-00 (-T/0) NAPFOS-20B-30-K (-T/O) 5
NAPNOS-102-6-01 (-T/0) NAPFOS-20B-6-K (-T/O) —
NAPNOS-102-15-00 (-T/0) | PNG-102-00 | TN-PN-102-M6 | NAPFOS-20B-15-K (-T/O) o
NAPNOS-102-30-00 (-T/0) NAPFOS-20B-30-K (-T/0)
NAPNOS-103-6-00_(-T/0) NAPFOS-20B-6-K (-T/O) MEXO.8
NAPNOS-103-15-0] (-T/0) | PNG-103-0] | TN-PN-103-M6 | NAPFOS-20B-15-K (T/O) | (o $6X4
NAPNOS-103-30-00 (-T/0) NAPFOS-20B-30-K (-T/O)
NAPNOS-104-6-01 (-T/0) NAPFOS-20B-6-K (-T/0)
NAPNOS-104-15-0 (-T/O) | PNG-104-0J NAPFOS-20B-15-K (-T/O)
NAPNOS-104-30-01 (-T/0) NAPFOS-20B-30-K (-T/O)
NAPNOS-106-6-C1 (-T/0) TN-PN-104-M6 NAPFOS-20B-6-K (-T/0)
NAPNOS-106-15-00 (-T/0) | PNG-106-0J NAPFOS-20B-15-K (-T/0) 02
NAPNOS-106-30-00 (-T/0) NAPFOS-20B-30-K (-T/O)
NAPNOS-107-10-0] NAPFOS-60-10-K Suction Cup
NAPNOS-107-30-00 PNG-107-00 | TN-PN-107-M10 | NAPFOS-60-30-K
NAPNOS-107-50-0] NAPFOS-60-50-K Rc1/8 PA
NAPNOS-108-10-0] NAPFOS-60-10-K (Female) -
NAPNOS-108-30-C] PNG-108-00 | TN-PN-108-M10 | NAPFOS-60-30-K PB
NAPNOS-108-50-L1 NAPFOS-60-50-K
NAPNOS-109-3-0]_(-T/0) NAPCOS-10-3-K_(-T/0) PC
NAPNOS-109-10-00 (-T/0) | PNG-109-00 | TN-PN-109-M5 | NAPCOS-10-10-K (-T/O) —
NAPNOS-109-15-00 (-T/0) NAPCOS-10-15-K (-T/O) PCD
NAPNOS-110-6-00 (-T/0) NAPFOS-20B-6-K (-T/O) —
NAPNOS-110-15-0) (-T/0) | PNG-110-] NAPFOS-20B-15-K (-T/O) PD
NAPNOS-110-30-0 (-T/0) NAPFOS-20B-30-K_(-T/O)
NAPNOS-111-6-00 (-T/O) TN-PN-104-M6 A\ pFO520B-6-K (-T/0) PF
NAPNOS-111-15-0 (-T/0) | PNG-111-00 NAPFOS-20B-15-K (-T/O) PEO
NAPNOS-111-30-0] (-T/0) NAPFOS-20B-30-K (-T/O)
NAPNOS-112-6-01 (-T/0) NAPFOS-20B-6-K (-T/O) PH
NAPNOS-112-15-0 (-T/0) | PNG-112-00 | TN-PN-112-M6 | NAPFOS-20B-15-K (-T/O)
NAPNOS-112-30-0] (-T/0) NAPFOS-20B-30-K (-T/0) pJ
NAPNOS-114-3-00 (-T/0) NAPCOS-10-3-K (-T/0) -
NAPNOS-114-10-0 (-T/0) | PNG-114-00 | TN-PN-114-M5 | NAPCOS-10-10-K (-T/O) CORE
NAPNOS-114-15-00 (-T/0) NAPCOS-10-15-K (-T/0) bl
NAPNOS-116-3-00 (-T/0) NAPCOS-10-3-K (-T/0) PK2
NAPNOS-116-10-0 (-T/O) | PNG-116-00 NAPCOS-10-10-K (-T/0) -
NAPNOS-116-15-01 (-T/0) TN-PN-116.M5 | _NAPCOS-10-16K (T/0) PK2B
NAPNOS-117-3-01 (-T/0) NAPCOS-10-3-K_(-T/0) -
NAPNOS-117-10-0 (-T/O) | PNG-117-0 NAPCOS-10-10-K (-T/0) PK2L
NAPNOS-117-15-00 (-T/0) NAPCOS-10-15-K (-T/O) -
NAPNOS-121-6-01 (-T/0) NAPBOS-20-6-K (-T/0)
NAPNOS-121-15-00 (-T/0) | PNG-121-0 | TN-PF-20-M5 NAPBOS-20-15-K (-T/O)
NAPNOS-121-30-0_(-T/0) NAPBOS-20-30-K_(-T/0)
NAPNOS-122-6-01 (-T/0) NAPFOS-20B-6-K (-T/O) MEXO.8
NAPNOS-122-15-0] (-T/0) | PNG-122-0] | TN-PN-122-M6 | NAPFOS-20B-15K (T/O) | (o $6X4
NAPNOS-122-30-0] (-T/0) NAPFOS-20B-30-K (-T/O)
NAPNOS-123-3-] (-T/0) NAPCOS-10-3-K (-T/0) PP
NAPNOS-123-10-00 (-T/0) | PNG-123-00 | TN-PN-123-M5 | NAPCOS-10-10-K (-T/O) —
NAPNOS-123-15-0 (-T/0) NAPCOS-10-15-K (-T/0) PQ
NAPNOS-125-3-0] (-T/0) NAPCOS-10-3-K (-T/0) —
NAPNOS-125-10-00 (-T/0) | PNG-125-] | TN-PN-116-M5 | NAPCOS-10-10-K (-T/O) PR
NAPNOS-125-15-0] (-T/0) NAPCOS-10-15-K (-T/O)
NAPNOS-130A-3-L1 (-T/O) NAPCOS-10-3K (-T/0) PU
NAPNOS-130A-10-00 (-T/O) | PNG-130A-0J NAPCOS-10-10-K (-T/0)
NAPNOS-130A-15-00 (-T/0) NAPCOS-10-15-K (-T/0) PW
NAPNOS-130B-3-00 (-T/0) NAPCOS-10-3-K_(-T/0) RA
NAPNOS-130B-10-00 (-T/0) | PNG-130B-[0 | TN-PN-130-M5 | NAPCOS-10-10-K (-T/O)
NAPNOS-130B-15-00 (-T/0) NAPCOS-10-15-K (-T/O) M
NAPNOS-131-3-0 _(-T/0) NAPCOS-10-3-K_(-T/0)
NAPNOS-131-10-0 (-T/0) | PNG-131-0 NAPCOS-10-10-K (-T/0) ™
NAPNOS-131-15-00 (-T/0) NAPCOS-10-15-K (-T/O)
NAPNOS-132-3-0] (-T/0) Attach the cup | NAPFOS-10A-3-K (-T/0)
NAPNOS-132-10-00 (-T/0) | PNG-132-00 |directly to the | NAPFOS-10A-10-K (-T/O)
NAPNOS-132-15-0 (-T/0) fitting NAPFOS-10A-15-K (-T/O)
NAPNOS-133-3-00 (-T/0) NAPCOS-10-3-K (-T/0)
NAPNOS-133-10-0 (-T/O) | PNG-133-J NAPCOS-10-10-K (-T/O)
NAPNOS-133-15-0 (-T/0) NAPCOS-10-15-K (-T/O)
NAPNOS-134-3-0] (-T/0) TN-PN-130-M5 NAPCOS-10-3-K (-T/0O)
NAPNOS-134-10-00 (-T/O) | PNG-134-(] NAPCOS-10-10-K (-T/0)
NAPNOS-134-15-0] (-T/0) NAPCOS-10-15-K (-T/0)

*[Jin the table indicates the cup material.
#O in the table indicates the vacuum port (T or Y).

412



dn) uonong

dr ulyL yum dng

1))

Suction Cup

PA
PB
PC

PCD

PD
PF

PFO

PH
PJ

CORE

PK2

PK2B
PK2L

PL

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

413

NV IR ) Cup with Spring Fitting

Dimensions
(mm)
NAPNT/YS-101 NAPNT/YS-102
12H
L
M5X0.8
M5X0.8
M5X0.8 — 19H
M14X1 M14X1
14H
_M5X0.8 M5X0.8
M6X1
— 93 17H
< M6X1 171
< @35 17H @27 | \17H
Model number D E E G |Weight(g) Model number D E [F G |Weight(g)
NAPNT/YS-101-6-[] (-T/O) | 905 | 6 36 | 28 87.5 NAPNT/YS-102-6-[] (-T/O) | 882 | 6 36 | 28 86.5
NAPNT/YS-101-15-[1 (-T/O)| 99.5 | 15 92.5 NAPNT/YS-102-15-[J (-T/O)| 97.2 | 15 91.5
NAPNT/YS-101-30- [J (-T/0)|136.5| 30 | 58 | 50 | 1175 NAPNT/YS-102-30- ] (-T/0)|134.2| 30 | 58 | 50 | 1165

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPNT/YS-103
@ 26
8 . B
M5X0.8 a1 =
m:—L O W 12H
M14X1 —_ | 5
‘ L 19H
el ] T
aT ~
M5X0.8 ~F
]
" I o~
@3\ 14+
MéX1 230 12H
Model number D E F G | Weight(g)
NAPNT/YS-103-6- ] (-T/O) [91.2| 6 36 | 28 70.5
NAPNT/YS-103-15- [J (-T/0)|100.2| 15 75.5
NAPNT/YS-103-30-[] (-T/0)|137.2| 30 | 58 | 50 | 100.5

%[ in the table indicates the cup material.
3 The weight value is when NR (Natural rubber) / without connector
selected.

Common Specifications

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

NAPNT/YS-104
2 20
8 . =
M5X0.8 : )
m:J~ Yl 12H
M14X1 | SN
ol 19H
T = N
M5X0.8 ~F
o
Ny o
@3 \_14H
M6X1 @284 | \ 12H
Model number D E F G |Weight(g)
NAPNT/YS-104-6- 0 (-T/0) | 90.2 | 6 36 | 28 68
NAPNT/YS-104-15- ] (-T/0)| 99.2 | 15 73
NAPNT/YS-104-30- [J (-T/0)|136.2| 30 | 58 | 50 98

* [ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0




PN

Dimensions

NAPNTS - YS /Cup with Spring Fitting

NAPNT/YS-106

M5X0.8 1 =
wE o L~ 12H
M14X1 \ ~ 1 q
ol = 19H
R =
M5X0.8 3
nl . N
@3 \ 14H
M6X1 @27 12H
Model number D E E G |Weight(g)
NAPNT/YS-106-6-(1 (-T/0) | 902| 6 | .| .o 68
NAPNT/YS-106-15-[] (-T/0)| 99.2 | 15 73
NAPNT/YS-106-30- [ (-T/0)|136.2| 30 | 58 | 50 98

*[Jin the table indicates the cup material.

% The weight value is when NR (Natural rubber) / without connector

selected.

NAPNT/YS-108

Rc1/8 ) 19H
| 30H
M22X1.5
[a)
L | 22H
L 24H
:
2.5
M10X1.25 @43
I
Model number D E | Wweight (9)
NAPNT/YS-108-10- [ 156 | 20 310
NAPNT/YS-108-30- [ 186 | 50 344
NAPNT/YS-108-50- [] 211 75 371

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) selected.

Common Specifications

NAPNT/YS-107

M22X1.5

(mm)

@49
Model number D E | Weight(g)
NAPNT/YS-107-10- (-T/O)| 161 | 20 310
NAPNT/YS-107-30- [J (-T/O)| 191 | 50 344
NAPNT/YS-107-50- (] (-T/O)| 216 | 75 371

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) selected.

NAPNT/YS-109

@5

"
NS
-

@6

°
M5X0.8 S| | Widthacross flat 6
] Zlwl | 12H
M8X0.75 ‘ —
0077 X v o
M5X0.8 'y
™~
Yy o
[ee] [a\}
“5 u
@15 10H
M5X0.8 @20 10H
Model number D E F G | Weight(g)
NAPNT/YS-109-3- 0 (-T/0O) |70.7| 3 23 | 17 21.5
NAPNT/YS-109-10- (1 (-T/0)|77.7| 10 22
NAPNT/YS-109-15- (] (-T/0)|90.2| 15 |30.5|24.5| 245

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

dn) uonong

di7 uiyL yum dny

1)

Suction Cup

PA
PB
PC

PCD

PD
PF
PFO
PH
PJ

CORE

PK2
PK2B
PKaL
e
PN

PN-B
—

PQ

PR

PU

PW

RA

SM

™

414



dn) uonong

dr ulyL yum dng

1))

Suction Cup

PA
PB
PC

PCD

PD
PF
PFO
PH
PJ

CORE

PK2

PK2B
PK2L

PL

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

415

NV IR ) Cup with Spring Fitting

Dimensions
(mm)
NAPNT/YS-110 NAPNT/YS-111
9> 96
:ﬁé; . B
M5X0.8 ! L
| ™
"] Ol L _12H
M14X1 ‘ ~1 0
) ‘ ~__19H
T T ~
<t
M5X0.8 - by
S
23 23
- M6X1 14H
M6X1 ©23 12H 226 |\ 12H
Model number D E [F G |Weight(g) Model number D E [F G |Weight(g)
NAPNT/YS-110-6- ] (-T/O) |90.2 | 6 36 | 28 68 NAPNT/YS-111-6-0J (-T/O) | 89.2 | 6 36 | 28 68
NAPNT/YS-110-15- ] (-T/O)| 99.2 | 15 73 NAPNT/YS-111-15-J (-T/O)| 98.2 | 15 73
NAPNT/YS-110-30- [J (-T/0){136.2| 30 | 58 | 50 98 NAPNT/YS-111-30- ] (-T/O)|135.2| 30 | 58 | 50 98

%[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

NAPNT/YS-112

M5X0.8 _
- ™~ 12H
M14X1
'
o ~__19H
M5X0.8 i
~
3
14H
©27 | \ 124
Model number D E F G | Weight(g)
NAPNT/YS-112-6- [ (-T/O) | 90.7 | 6 36 | 28 68.5
NAPNT/YS-112-15- ] (-T/0)| 99.7 | 15 735
NAPNT/YS-112-30-[] (-T/0)|136.7| 30 | 58 | 50 98.5

%[ in the table indicates the cup material.
3 The weight value is when NR (Natural rubber) / without connector
selected.

Common Specifications

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

NAPNT/YS-114

@5 @6

| | Widthacrossflat6
| 12H
M8X0.75 F o
~_10H
217 10H
Model number D E F G |Weight(g)
NAPNT/YS-114-6- (-T/O) |67.2 | 3 23 | 17 20.5
NAPNT/YS-114-15- (-T/O)| 74.2 | 10 21
NAPNT/YS-114-30- ] (-T/0)| 86.7 | 15 |30.5|24.5| 235

* [ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0




PN

Dimensions

NAPNTS - YS /Cup with Spring Fitting

NAPNT/YS-116

©
M5X0.8 ‘ o | | Widthacross flat 6
I V)
™ —=1 | 12H
.
M8X0.75 " w0 7\ .
M5X0.8 | ™ ~
o~
M5X0.8 T -
© @25 10H
e 218 12H
Model number D E F G |Weight(g)
NAPNT/YS-116-3- (-T/O) [62.2| 3 23 | 17 215
NAPNT/YS-116-10-[] (-T/0)|69.2| 10 22
NAPNT/YS-116-15-] (-T/0)|81.7| 15 |30.5|245| 245

*[Jin the table indicates the cup material.
% The weight value is when S (Silicone rubber) / without connector

selected.

NAPNT/YS-121

Model number D E F G | Weight(g)
NAPNT/YS-121-6- (-T/O) | 77 | 6 36 | 28 65.5
NAPNT/YS-121-15- (-T/O)| 86 | 15 70.5
NAPNT/YS-121-30- ] (-T/0)| 123 | 30 | 58 | 50 95.5

[ in the table indicates the cup material.
% The weight value is when S (Silicone rubber) / without connector

selected.

Common Specifications

NAPNT/YS-117

@5

@6

(mm)

R RN
|| Width across flat
| | 12H
M8X0.75
E— eE e
[ee]
y 2
M5X0.8 ~F
aal
S @25 \_10H
M5X0.8 218 |\ 12H
I
Model number D E [F G |Weight(g)
NAPNT/YS-117-3-[] (-T/O) |63.2| 3 23 | 17 21.5
NAPNT/YS-117-10-[] (-T/0)|70.2| 10 22
NAPNT/YS-117-15-[1 (-T/0)|82.7| 15 |30.5|24.5| 245

[ in the table indicates the cup material.
% The weight value is when S (Silicone rubber) / without connector

selected.

NAPNT/YS-122

M6X1

19H

14H

Model number

F

G

Weight(g)

NAPNT/YS-122-6- 1 (-T/O)

90.2

36

NAPNT/YS-122-15- 0 (-T/O)

99.2

28

88
93

NAPNT/YS-122-30- [ (-T/0)

136.2

58

50

118

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector

selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

dn) uonong

di7 uiyL yum dny

1)

Suction Cup

PA
PB
PC
D
—
PF
PFO
PH
P)
CORE
PK2
PK2B

PK2L

PP
PQ
PR
PU
PW
RA
SM
™

416



NV IR ) Cup with Spring Fitting

w
c
O
=
o - -
3 Dimensions
Q (mm)
5 mm
o NAPNT/YS-123 NAPNT/YS-125
C
©
)
(= L
>
o B pa
3. © Wt |
5 -
[y 'y P,
©
Width across flat 6 Width across flat
M5X0.8
12H 12H
M8X0.75
Suction Cup M5X0.8
PA
PB M5X0.8 @25 12H
PC Model number D E F G | Weight(g) Model number D E F G |Weight(g)
— NAPNT/YS-123-3- (-T/O) [63.7| 3 23 | 17 24.5 NAPNT/YS-125-3-1 (-T/O) |62.2| 3 23 | 17 22
PCD NAPNT/YS-123-10- [ (-T/0)|70.7| 10 25 NAPNT/YS-125-10- 0 (-T/0)|69.2| 10 225
PD NAPNT/YS-123-15- [ (-T/0)|83.2| 15 |30.5|24.5| 27.5 NAPNT/YS-125-15- 0 (-T/0)|81.7| 15 |30.5|24.5 25
*[Jin the table indicates the cup material. »*[Jin the table indicates the cup material.
PF % The weight value is when NR (Natural rubber) / without connector ¥ The weight value is when U (Urethane rubber)/ without connector
selected. selected.
PFO
- NAPNT/YS-130A NAPNT/YS-130B
PH
R, @5 @6
PJ
CORE of = ! ©
PK2 3 : ! ]
e N
PK2B f -
Width across flat 6 i o | | Widthacross flat 6
PK2L M5X0.8 \
A ! (U]
PL 12H ] —=1 | 12H
i [
PN-B |
PP M5X0.8 | 3
PQ _ri =<\
PR 2.5
10H
PU M5X0.8 @20 12H M5X0.8 @20 12H
PW Model number D E F G | Weight(g) Model number D E F G | Weight(g)
NAPNT/YS-130A-3-0 (-T/O) |75.7| 3 23 | 17 255 NAPNT/YS-130B-3- (-T/0) |[75.7| 3 23 | 17 255
RA NAPNT/YS-130A-10- (-T/O) |82.7| 10 26 NAPNT/YS-130B-10- ] (-T/O) [82.7| 10 26
M NAPNT/YS-130A-15- ] (-T/O) |95.2| 15 |30.5|24.5| 285 NAPNT/YS-130B-15- (] (-T/O) |95.2| 15 |30.5|24.5| 285
%[ in the table indicates the cup material. %[ in the table indicates the cup material.
TN % The weight value is when NBR (Nitrile rubber) / without connector % The weight value is when NBR (Nitrile rubber) / without

selected. connector selected.

Common Specifications

Connector Weight(g)

Model Number Tube O.D ¢ 6
T 1.5
(0] 4.0

417



PN

Dimensions

NAPNTS - YS /Cup with Spring Fitting

NAPNT/YS-131

@5 06
Y I
o Width fl
M5X0.8 i idth across flat 6
L. G)
i = | 12H
M8X0.75 | 2
o | | | ~1e
M5X0.8 ‘ N
o
o i
@25
10H
M5X0.8 @25 12H
I
Model number D E E G |Weight(g)
NAPNT/YS-131-3- 1 (-T/0) 70.7| 3 23 | 17 25.5
NAPNT/YS-131-10-J (-T/O) |77.7| 10 26
NAPNT/YS-131-15-[1 (-T/O) |90.2| 15 |30.5|24.5| 285

*[Jin the table indicates the cup material.
3% The weight value is when NBR (Nitrile rubber) / without connector

selected.

NAPNT/YS-133

@5 @6
= % él p=
I I
Width across flat 6
M8X0.75 =
—_— 3 12H
225 10H
M5X0.8 @25 12H
I
Model number D E F G | Weight(g)
NAPNT/YS-133-3- (-T/0) 707 3 23 | 17 26.6
NAPNT/YS-133-10-J (-T/O) 77.7] 10 27.1
NAPNT/YS-133-15- [ (-T/0) 90.2| 15 |30.5|245| 29.6
[ in the table indicates the cup material.

% The weight value is when NBR (Nitrile rubber) / without connector

selected.

Common Specifications

(mm)
NAPNT/YS-132
@5 26
L o
(o)}
[N
Width across flat 6
y O ——————
M8X0.75 ) NJ2H
ar
(o)}
D2
@15 10H
Model number D E} B G |Weight(g)
NAPNT/YS-132-3-[1 (-T/O) |57.5| 3 23 | 17 19.1
NAPNT/YS-132-10-] (-T/O) |64.5| 10 19.6
NAPNT/YS-132-15-[1 (-T/O) | 77 | 15 |30.5|24.5| 22.1

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector

selected.

NAPNT/YS-134

@5

©
IO
(o))
O [N
Width across flat 6
Sar 12H
~
o~
o~
@25
10H
M5X0.8 ©@35.1 12H
I
Model number D E F G |Weight(g)
NAPNT/YS-134-3- (-T/O) |72.7| 3 23 | 17 275
NAPNT/YS-134-10- ] (-T/O) |79.7| 10 28
NAPNT/YS-134-15- ] (-T/O) |92.2| 15 |30.5|24.5| 305

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector

selected.

Connector Weight(qg)
Model Number Tube OD ¢ 6
T 1.5
o 4.0

dn) uonong

di7 uiyL yum dny

1)

Suction Cup
PA
PB
PC

D

—
PF
PFO
PH
P)
CORE
PK2
PK2B
PK2L
PL

Py
PN-B

—

—

——
PU
PW
RA
SM
™

418



N\ s B4 50 Cup with Non-rotation Spring Fitting

2]

c

o

=

o

p 4 é15 (PNG-132) N ¢ 15~35 (except for PNG-132) A
c

©

(@]

c

©

2

(=

>

._|

=)

5

5 * *

Preventing
the workpiece
rotates with the
- - -+ -+ hexagonal shape
/[-\ /J:-\ of axis stroke
Consi sting of ﬁtting setting Attach the cup directly Attach the cup to the fitting
’ to the fitting with setting screw

screw, suction cup. \_ /L %

How to Order

PB
PC NAPN T H — 114-3 — N — T
PCD @ @ ©) @
PD @ Vacuum Port
PF T Top
PFO Y Side
o @ Cup Size - Stroke (mm) @ Connector
—PJ Symbol Csut;; oslitzee Symbol Csut? osli;e Symbol Csutrﬁ oski;e Blank N/A
CORE 101-6 | ¢31-6 111-6 | $25-6 123-3 $15-3 T Barb
T 101-15| ¢31-15 111-15| $25-15 123-10 | #15-10 - Pushin
101-30 | ¢31-30 111-30 | $25-30 123-15 | ¢15-15
PK2B 1026 | ¢256 _112-6 | $27-6 1253 | ¢24-3
= 102-15 | ¢25-15 112-15| ¢27-15 125-10 | $24-10
PK2L 102-30 | ¢25-30 112-30 | $27-30 _125-15 | $24-15
— 103-6 | #256 _114-3 | ¢17-3 _130A3 | ¢203 (3 Cup Rubber Material
PL 103-15 | $#25-15 114-10| ¢17-10 130A-10| $20-10 - - -
m 103-30 | ¢25-30 114-15| ¢17-15 130A-15| ¢20-15  Symbol Material Applicable cup size
104-6 | $2486 116-3 | 4183 130B-3 | ¢20-3 L 101/116/122/130A/
PN-B 104-15 | $24.8-15 116-10| $18-10 130B-10| #20-10 N |NBR(Nitrile rubber) |4 305,131/132/133/134 "
T 104-30 | $24.8-30 116-15| ¢18-15 130B-15 | ¢20-15 N Silicone rubber |101/114/116/117/121/130A
106-6 | ¢25-6 117-3 | ¢17.6-3 131-3 | ¢25-3 hardness 55  |/130B/131/132/133/134
Y 106-15 | ¢25-15 117-10| ¢17.6-10 131-10 | $25-10 —
106-30 | $25-30 117-15| 617615 13115 | 925-15  si30 | Siiconerubber |147,153/131/132/133/134
PR 109-3 | ¢17-3 _121-6 | #31-6 1323 | ¢153
109-10 | ¢17-10 [121-15| ¢31-15 | 132-10 | ¢15-10 U | Urethane rubber |104/110/116/125/130B
PU 109-15| ¢17-15 121-30 | $31-30 132-15 | ¢15-15
— 110-6 | ¢236 _122-6 | $#34-6 1333 | ¢253 _
PW 110-15 | ¢23-15 122-15| $34-15 133-10 | $25-10 F Fluorine rubber 1308
110-30 | ¢23-30 122-30 | $34-30 133-15 | ¢25-15
RA 101/102/103/104/106/109/
134-3 ¢ 35-3 NR Natural rubber 110/1117/112/114/123
SM 134-10 | ¢35-10
134-15 $35-15 Note1) The hardness of 131/132/133/134 is 40, and another type is 55.
N ¥Please consult with us for other material.

Spring Specifications

109/114/116/117/123/ | 101/102/103/104/106/
Cup size Unit | 125/130A/130B/131/ |110/111/112/121/122
132/133/134
Stroke mm 3 | 10 15 6 | 15 30
Spring load at O stroke N 0.61 0.64 2.45 2.9
Spring load at full stroke N 077 | 117 343 | 49 | s588

419



PN

NAPNTH - YH /Cup with Non-rotation Spring Fitting

w
C
=
Combination Table S
o)
C
©
Piping specifications (@)
Model number Cup Setting screw Fitting Without Barb Pushin %
connector-Blank | connector:T | connector 0 g
NAPNOH-101-6-C1 (-T/0) NAPFOH-20B-6-K (-T/0) 5
NAPNOH-101-15-00 (-T/0) | PNG-101-0 | TN-PN-101-M6 | NAPFOH-20B-15-K (-T/O) 3
NAPNOH-101-30-01 (-T/0) NAPFOH-20B-30-K (-T/0) 5
NAPNOH-102-6-C1 (-T/0) NAPFOH-20B-6-K (-T/0) C
NAPNOH-102-15-00 (-T/0O) | PNG-102-0 | TN-PN-102-M6 | NAPFOH-20B-15-K (-T/O) °
NAPNOH-102-30-C] (-T/0) NAPFOH-20B-30-K (-T/O)
NAPNOH-103-6-[1 (-T/0) NAPFOH-20B-6-K (-T/O)
NAPNOH-103-15-00 (-T/O) | PNG-103-00 | TN-PN-103-M6 | NAPFOH-20B-15-K (-T/0)
NAPNOH-103-30-[1 (-T/0) NAPFOH-20B-30-K (-T/0)
NAPNOH-104-6-C1 (-T/0) NAPFOH-20B-6-K (-T/0)
NAPNOH-104-15-0] (-T/0) | PNG-104-0] NAPFOH-20B-15-K (-T/0)
NAPNOH-104-30-C] (-T/0) TN-PN-104Ms | NAPFOH-20B-30-K (-T/0)
NAPNOH-106-6-C1 (-T/0) NAPFOH-20B-6-K (-T/O) 02
NAPNOH-106-15-00 (-T/0) | PNG-106-0 NAPFOH-20B-15-K (-T/0)
NAPNOH-106-30-] (-T/0) NAPFOH-20B-30-K (-T/0) Blctanp
NAPNOH-109-3-[0 (-T/0) NAPCOH-10-3-K (-T/O)
NAPNOH-109-10-00 (-T/0O) | PNG-109-00 | TN-PN-109-M5 | NAPCOH-10-10-K (-T/O) PA
NAPNOH-109-15-01 (-T/0) NAPCOH-10-15-K (-T/O) PB
NAPNOH-110-6-[1 (-T/0) NAPFOH-20B-6-K (-T/0)
NAPNOH-110-15-0] (-T/0) | PNG-110-0 NAPFOH-20B-15-K (-T/0) PC
NAPNOH-110-30-C] (-T/0) TN-PN-104Ms | NAPFOH-20B-30-K (-T/0) _
NAPNOH-111-6-01 (-T/0) NAPFOH-20B-6-K (-T/O) PCD
NAPNOH-111-15-0] (-T/0) | PNG-111-0J NAPFOH-20B-15-K (-T/0) -
NAPNCOH-111-30-0J (-T/O) NAPFOH-20B-30-K (-T/O) PD
NAPNOH-112-6-01 (-T/0) NAPFOH-20B-6-K (-T/O) PE
NAPNOH-112-15-00 (-T/0O) | PNG-112-0 | TN-PN-112-M6 | NAPFOH-20B-15-K (-T/O)
NAPNOH-112-30-0] (-T/0) NAPFOH-20B-30-K (-T/O) PFO
NAPNOH-114-3-01 (-T/0) NAPCOH-10-3-K (-T/O)
NAPNOH-114-10-00 (-T/O) | PNG-114-00 | TN-PN-114-M5 | NAPCOH-10-10-K (-T/O) PH
NAPNOH-114-15-01 (-T/0) NAPCOH-10-15-K (-T/O)
NAPNOH-116-3-00 (-T/0) NAPCOH-10-3-K (-T/O) P)
NAPNOH-116-10-0] (-T/0) | PNG-116-0 NAPCOH-10-10-K (-T/O) -
NAPNOH-116-15-0 (-T/O) NN T6Ms | NAPCOH-10-15-K (T/0) M5X0.8 56 x4 CORE
NAPNOH-117-3-00 (-T/0) NAPCOH-10-3-K (-T/0) (Female) PK2
NAPNOH-117-10-0 (-T/0) | PNG-117-0 NAPCOH-10-10-K (-T/O)
NAPNOH-117-15-00 (-T/0) NAPCOH-10-15-K (-T/O) PK2B
NAPNOH-121-6-[1 (-T/0) NAPBOH-20B-6-K (-T/O) S
NAPNOH-121-15-00 (-T/0) | PNG-121-0 | TN-PF-20-M5 NAPBOH-20B-15-K (-T/O) PK2L
NAPNOH-121-30-01 (-T/0) NAPBOH-20B-30-K (-T/O) S
NAPNOH-122-6-C1 (-T/0) NAPFOH-20B-6-K (-T/0)
NAPNOH-122-15-00 (-T/O) | PNG-122-00 | TN-PN-122-M6 | NAPFOH-20B-15-K (-T/O)
NAPNOH-122-30-0] (-T/0) NAPFOH-20B-30-K (-T/0)
NAPNOH-123-3-0] (-T/0) NAPCOH-10-3-K (-T/0)
NAPNOH-123-10-00 (-T/0) | PNG-123-0 | TN-PN-123-M5 | NAPCOH-10-10-K (-T/O)
NAPNOH-123-15-01 (-T/0) NAPCOH-10-15-K (-T/O) PP
NAPNOH-125-3-01 (-T/0) NAPCOH-10-3-K (-T/O) _
NAPNOH-125-10-00 (-T/0) | PNG-125-0 | TN-PN-116-M5 | NAPCOH-10-10-K (-T/O) PQ
NAPNOH-125-15-01 (-T/0) NAPCOH-10-15-K (-T/0) E—
NAPNOH-130A-3-[] (-T/O) NAPCOH-10-3-K (-T/O) PR
NAPNOH-130A-10-L] (-T/0) | PNG-130A-[] NAPCOH-10-10-K (-T/O)
NAPNOH-130A-15-0] (-T/O) NAPCOH-10-15-K (-T/0) PU
NAPNOH-130B-3-[] (-T/O) NAPCOH-10-3-K (-T/0) PW
NAPNOH-130B-10-0] (-T/0) | PNG-130B-0J| TN-PN-130-M5 | NAPCOH-10-10-K (-T/O)
NAPNOH-130B-15-0] (-T/0) NAPCOH-10-15-K (-T/O) RA
NAPNOH-131-3-0] (-T/0) NAPCOH-10-3-K (-T/0)
NAPNOH-131-10-0 (-T/0) | PNG-131-0 NAPCOH-10-10-K (-T/O) SM
NAPNOH-131-15-01 (-T/0) NAPCOH-10-15-K (-T/O)
NAPNCH-132-3-0 (-T/O) Attach the cup | NAPFOH-5A-3K (-T/0) L
NAPNOH-132-10-0] (-T/O) | PNG-132-0 |directly to the NAPFOH-5A-10-K (-T/0)
NAPNOH-132-15-01 (-T/0) fitting NAPFOH-5A-15-K (-T/O)
NAPNOH-133-3-[] (-T/0) NAPCOH-10-3-K (-T/O)
NAPNOH-133-10-0J (-T/0) | PNG-133-0 NAPCOH-10-10-K (-T/O)
NAPNOH-133-15-[] (-T/0) NAPCOH-10-15-K (-T/O)
NAPNOH-134-3-0] (-T/0) TN-PN-130-M5 - 0 A pCOH-10-3-K (-T/0)
NAPNOH-134-10-0 (-T/O) | PNG-134-0 NAPCOH-10-10-K (-T/O)
NAPNOH-134-15-01 (-T/0) NAPCOH-10-15-K (-T/O)

*[Jin the table indicates the cup material.
¥ O in the table indicates the vacuum port (T or Y).

420



N\ R4 5] Cup with Non-rotation Spring Fitting

selected.

Common Specifications

selected.

[%2)
c
(2}
=4
o - -
3 Dimensions
Q (mm)
5 mm
o NAPNT/YH-101 NAPNT/YH-102
C
T
2
(=
>
_| Y
=y e
5 |
[
ie]
L_12H
SIRRET
Suction Cup &
PA 17H
PB @35 17H MéxX1 @27 17H
PC . ;
_ Model number D E E G |Weight(g) Model number D E E G | Weight(g)
PCD NAPNT/YH-101-6-] (-T/O) | 905 | 6 36 | 28 86 NAPNT/YH-102-6-[] (-T/O) | 882 | 6 36 | 28 85
- NAPNT/YH-101-15-[] (-T/0) | 99.5 | 15 91 NAPNT/YH-102-15- ] (-T/O) | 97.2 | 15 90
PD NAPNT/YH-101-30- [J (-T/O) |136.5| 30 | 58 | 50 115 NAPNT/YH-102-30- (] (-T/O) |[134.2| 30 | 58 | 50 114
PF %[ in the table indicates the cup material. [ in the table indicates the cup material.
_ % The weight value is when NBR (Nitrile rubber) / without connector % The weight value is when NR (Natural rubber) / without connector
PFO selected. selected.
PH NAPNT/YH-103 NAPNT/YH-104
@5 @6 @5 @6
i I i | i
CORE B -
— © — ©
PK2 @ - gi ® -
—PKZB M5X0.8 : 0 ) al
. I M5X0.8 !
PK2L v | o - | ©
- ] w . ] w 12H
PL . L
m w T2 ey M14x1 | T2 o4
M14X1 2 W _ — o 1 — I~
™~ N —~ (o]
PN-B . |
_— ~ o
PP by N
— M5X0.8 Ny L N M5X0.8 " N
P — : —
—Q @3 @3
PR 14H 14H
M6X1 @30 12H M6X1 2284 12H
PU
PW Model number D E F G | Weight(g) Model number D E F G | Weight(g)
NAPNT/YH-103-6-[1 (-T/O) |91.2| 6 36 | 28 69 NAPNT/YH-104-6-] (-T/O) | 90.2| 6 36 | 28 66.5
RA NAPNT/YH-103-15- (-T/O) |100.2| 15 74 NAPNT/YH-104-15-J (-T/O) | 99.2 | 15 715
M NAPNT/YH-103-30- [J (-T/O) |137.2| 30 | 58 | 50 98 NAPNT/YH-104-30- (] (-T/O) |136.2| 30 | 58 | 50 955
%[ in the table indicates the cup material. [ in the table indicates the cup material.
TN 3 The weight value is when NR (Natural rubber) / without connector % The weight value is when NR (Natural rubber) / without connector

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0

421



Dimensions

NAPNTH - YH /Cup with Non-rotation Spring Fitting

NAPNT/YH-106

M6X1 @27 12H
Model number D E B G |Weight(g)
NAPNT/YH-106-6- 1 (-T/O) |90.2 | 6 36 | 28 66.5
NAPNT/YH-106-15-[1 (-T/0) | 99.2 | 15 715
NAPNT/YH-106-30-[] (-T/0) |136.2| 30 | 58 | 50 95.5

*[Jin the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

NAPNT/YH-110

5 v
12H
' 0
~_ T9H
@3 \_14H
MéxX1
223 | \12H
Model number D E F G |Weight(g)
NAPNT/YH-110-6-1 (-T/O) |90.2 | 6 36 | 28 66.5
NAPNT/YH-110-15- (-T/0) | 99.2 | 15 715
NAPNT/YH-110-30-[] (-T/O) |136.2| 30 | 58 | 50 95.5

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

Common Specifications

(mm)
NAPNT/YH-109
@5 06
L ‘7 I
o | | Widthacrossflat 6
M5X0.8 ‘
o] ‘ © [V
M8X0.75 ; ~_ 7 a
°°77 1 < [Ta} w
M5X0.8 Y
~
J o
[e'e) o~
0
@1.5 \_10H
M5X0.8 220 10H
Model nhumber D E E G |Weight(g)
NAPNT/YH-109-3-[1 (-T/O) | 70.7 | 3 23| 17 22
NAPNT/YH-109-10-J (-T/O) | 77.7 | 10 225
NAPNT/YH-109-15-[] (-T/0) | 90.2 | 15 |30.5(24.5| 255

%[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

NAPNT/YH-111

M6X1 @26 12H
Model number D E F G | Weight(g)
NAPNT/YH-111-6-01 (-T/O) |89.2 | 6 36 | 28 66.5
NAPNT/YH-111-15-0 (-T/O) | 98.2 | 15 715
NAPNT/YH-111-30-[J (-T/O) |135.2| 30 | 58 | 50 95.5

%[ in the table indicates the cup material.
3 The weight value is when NR (Natural rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

dn) uonong

di7 uiyL yum dno

1)

Suction Cup

PA
PB
PC

PCD

PD
PF
PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PP

PQ

422

PR
PU
PW
RA
SM
TN



N\ R4 5] Cup with Non-rotation Spring Fitting

selected.

Common Specifications

selected.

[%2)
c
(2}
=4
o - -
3 Dimensions
Q (mm)
5 mm
o NAPNT/YH-112 NAPNT/YH-114
C
T
a5 @6
2 I
(=
>
= @ 7
3. = 2
S |
[ o | ‘ é i
T — | —
Width across flat 6
M5X0.8 —
~12H | 12H
r O T
M14X1 | 19H M8X0.75 e
Suction Cup
PA
23 14H 10H
@27
PB 12H
PC . -
_ Model number D E E G |Weight(g) Model number D E F G | Weight(g)
PCD NAPNT/YH-112-6- (-T/O) | 90.7 | 6 36 | 28 67 NAPNT/YH-114-3- ] (-T/O) |67.2| 3 23 | 17 21
- NAPNT/YH-112-15-[] (-T/0) | 99.7 | 15 72 NAPNT/YH-114-10-C1 (-T/O) |74.2| 10 215
PD NAPNT/YH-112-30- ] (-T/O) | 136.7| 30 | 58 | 50 96 NAPNT/YH-114-15- ] (-T/O) |86.7| 15 |30.5|24.5| 245
PF %[ in the table indicates the cup material. [ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector % The weight value is when NR (Natural rubber) / without connector
PFO selected. selected.
PH NAPNT/YH-116 NAPNT/YH-117
PJ o5 26 @5 26
CORE
- :ﬁ o @ - " -
PK2B o
PK2L [ . A
Width across flat 6 Width across flat 6
PL M5X0.8
| |
PN-B M8X0.75 . M8X0.75
PP
M5X0.8 M5X0.8
PQ g
— M5X0.8 8
PR S
218 12H M5X0.8 218 12H
PU
PW Model number D E F G |Weight(g) Model number D E F G | Weight(g)
NAPNT/YH-116-3-0 (-T/O) |62.2| 3 23 | 17 22 NAPNT/YH-117-3- (-T/O) |63.2| 3 23 | 17 22
RA NAPNT/YH-116-10- (-T/O) |69.2| 10 225 NAPNT/YH-117-10-J (-T/O) |70.2| 10 225
M NAPNT/YH-116-15- ] (-T/O) |81.7| 15 |30.5|24.5| 255 NAPNT/YH-117-15-[1 (-T/O) |82.7| 15 |30.5(24.5| 255
%[ in the table indicates the cup material. * [ in the table indicates the cup material.
N % The weight value is when S (Silicone rubber) / without connector % The weight value is when S (Silicone rubber) / without connector

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0

423



PN

Dimensions

NAPNTH - YH /Cup with Non-rotation Spring Fitting

NAPNT/YH-121

Model number D E F G |Weight(g)
NAPNT/YH-121-6-1 (-T/O) | 77 | 6 36 | 23 64
NAPNT/YH-121-15-] (-T/O) | 86 | 15 69
NAPNT/YH-121-30-[] (-T/O) | 123| 30 | 58 | 50 93

*[Jin the table indicates the cup material.
% The weight value is when S (Silicone rubber) / without connector
selected.

NAPNT/YH-123

L Width across flat 6
| 12H
M8X0.75 P ©
=
= 2
o
@2 \ 10H
10H
Model number D E F G | Weight(g)
NAPNT/YH-123-3- [ (-T/O) (63.7| 3 23 | 17 25
NAPNT/YH-123-10- ] (-T/O) |70.7| 10 255
NAPNT/YH-123-15-[] (-T/O) |83.2| 15 |30.5|24.5| 285

[ in the table indicates the cup material.
% The weight value is when NR (Natural rubber) / without connector
selected.

Common Specifications

NAPNT/YH-122

(mm)

dn) uonong

di7 uiyL yum dno

1)

Suction Cup
M6X1 @35 17H PA
PB
- PC
Model number D E F G |Weight(g) [
NAPNT/YH-122-6-[] (-T/O) |90.2| 6 36 | 28 86.5 PCD
NAPNT/YH-122-15-[] (-T/0) | 99.2 | 15 915 -
NAPNT/YH-122-30- ] (-T/O) |136.2| 30 | 58 | 50 | 1155 PD
[ in the table indicates the cup material. PF
% The weight value is when NBR (Nitrile rubber) / without connector
selected. PFO
NAPNT/YH-125 PH
PJ
@5 @6 E—
T T CORE
- @ ol PK2
é' o F PK2B
[ ,‘7 [ _
f? PK2L
Width across flat 6
t | 12H
M8X0.75 .- PN-B
w7 wn —
. PP
~ JE—
M5X0.8 I
it PQ
@2.5 10H -
PR
M5X0.8 @25 12H
‘ PU
Model number D E F G |Weight(g) PW
NAPNT/YH-125-3-0 (-T/O) |62.2| 3 23 | 17 225
NAPNT/YH-125-10- (-T/O) |69.2| 10 23 RA
NAPNT/YH-125-15- ] (-T/O) |81.7| 15 |30.5|24.5 26 M
%[ in the table indicates the cup material.
¥ The weight value is when U (Urethane rubber)/ without connector TN

selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

424



dn) uonong

drf ulyL yum dng

1))

Suction Cup

PA
PB
PC

PCD

PD
PF
PFO
PH
PJ

CORE

PK2

PK2B
PK2L

PL

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

N\ R4 5] Cup with Non-rotation Spring Fitting

Dimensions

NAPNT/YH-130A

@5 @6

[ —— |
| | Widthacross flat 6
M5X0.8
™7 || 12H
M8X0.75 —
[a
\n
o
©2.5 N\JOH
M5X0.8 @20 12H
Model number D E [F G |Weight(g)
NAPNT/YH-130A-3- [ (-T/O) |75.7| 3 23 | 17 26
NAPNT/YH-130A-10-[](-T/0)|82.7| 10 26.5
NAPNT/YH-130A-15-[1(-T/0)|95.5| 15 |30.5|24.5| 295

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPNT/YH-131

@5 06
N ﬁ I
| | Widthacrossflat 6
] 12H
M8X0.75 F o
=)
™~
o
o~
| @25\ _10H
M5X0.8 @25 12H
Model number D E F G |Weight(g)
NAPNT/YH-131-3- (-T/O) |70.7| 3 23 | 17 26
NAPNT/YH-131-10-J (-T/O) |77.7| 10 26.5
NAPNT/YH-131-15-[] (-T/0) |90.2| 15 |30.5|24.5| 295

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector
selected.

Common Specifications

(mm)
NAPNT/YH-130B
@5 06
- @ @ 2
R
. | | Width across flat 6
| 1M
M8X0.75 A
M5X0.8 =
% g S
@25\ 10H
M5X0.8 @20 12H
Model humber D E F G |Weight(g)
NAPNT/YH-130B-3-[] (-T/0) |75.7| 3 23 | 17 26
NAPNT/YH-130B-10-[1(-T/0)|82.7| 10 26.5
NAPNT/YH-130B-15-[1(-T/0)|95.2| 15 |30.5|24.5| 29.5

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPNT/YH-132
@5 @6
= o
! g,i,‘h,i,g
A |1 Width across flat 6
| 12H
I =
M8X0.75 —
——— | ™
af
~ 3 i BN S
L 22
M5X0.8 215 10H
Model number D E F G | Weight(g)
NAPNT/YH-132-3- ] (-T/O) |57.5| 3 23 | 17 19.1
NAPNT/YH-132-10- ] (-T/O) |64.5| 10 19.6
NAPNT/YH-132-15-[1 (-T/O) | 77 | 15 |30.5(24.5| 226

* [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0

425



PN

NAPNTH - YH /Cup with Non-rotation Spring Fitting

[92]
C
(2]
=4
. . o
Dimensions 3
(mm) 9
mm 5
NAPNT/YH-133 NAPNT/YH-134 o
c
@5 26 @5 @6 S
- i 10 :
(=
v [ >
— e}
- . - . O = 2
@ — ‘ ‘ ] 5
i ! i R R .
—- F - .* - f - B T
Width across flat 6 | [ Widthacross flat 6
M5X0.8 | F
™ L 12H
| M8X0.75 v
M8X0.75 S AT 12H
(Vo)
~ i H 02
g i Suction Cup
f
@25 10H @25 10H PA
12H M5X0.8 @35.1 12H PB
I
- - PC
Model number D E F G |Weight(g) Model number D E F G | Weight(g)
NAPNT/YH-133-3- [ (-T/O) |70.7| 3 23 | 17 27.1 NAPNT/YH-134-3- [ (-T/O) |72.7| 3 23 | 17 28 PCD
NAPNT/YH-133-10-[1 (-T/O) |77.7| 10 276 NAPNT/YH-134-10- (-T/0) |79.7| 10 285
NAPNT/YH-133-15- ] (-T/O) |90.2| 15 |30.5|24.5| 30.6 NAPNT/YH-134-15- [ (-T/O) |92.2| 15 |30.5|24.5| 31.5 PD
*[Jin the table indicates the cup material. [ in the table indicates the cup material. PF
% The weight value is when NBR (Nitrile rubber) / without connector % The weight value is when NBR (Nitrile rubber) / without connector
selected. selected.
PFO
PH
PJ
CORE
PK2
PK2B
PK2L

PP
PQ
PR
PU
PW

RA
SM
TN

Common Specifications

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

426



